M302AS102DN-QB3-

Price
Configuration

Type: M

Size: 302A

Input: 71 B14 0105

Output shaft/bore: 220

Mounting: S1

Mounting position: B3

Input bore: -

Coupling: -

Terminal box position: B
Technical data

Input rpm (ny): 1400 min™

Output rpm (n,): 327.27 mint!

Ratio (i): 4.28 (02)

Nominal power (P1R): 1.43 kW

Nominal torque (MyR): 40 Nm

Dynamic efficiency (RD): 96%
Selection

Motor power (Pyy): 0.37 kW

Output torque (Myy): 10 Nm

Service factor (f.s.): 3.9
Lubrication

Oil quantity: 0.151

AGIP: Telium VSF 320

SHELL: Omala S4 WE 320

On our website

Features

How to order

Dimension
Accessories/options
Electric motors

Selection guide - fs
Mounting pos. - lubricant
Calc. the overhung load

Note

Atex certification
Installation check list
Spare parts list
Complete catalogue
Selection by power (xls)

Lead time

Direction of rotation

Axial and radial loads

Input shaft

em L JFN)

. 4 )
F.(N)

SX

Output shaft

DX ®

n;
(mint)
1400 226 1130
900 264 1320
500 322 1610

250 151 756
200 185 924
140 246 1320
120 270 1350
85 300 1500
70 340 1700
40 380 1900




M302AS102DN-QB3-

3D dimensions on the Web

with flange 3.5 kg

With feet with feet 4.0 Kg
P302AB ... ¢on pieain A
131.2 80 48
3.5
3
—>H<§
© . :
£ -
Te} ] T
N T
*See the table of output 220 hé
shaft for the complete |
list of diameters M8x19 ~
%)
Gestl Maket ' G| H| R | L |L1| S |HL| O gl |s2onaih angs | kit code Other feet are available,
see our web site
112 18 | 85 110 87 50 | 130|133 | 15 9 15 80/90B5 KC30.9.022 Sono disponibili altri piedini,
212/3 | 18 | 100 | 130 |107.5| 60 |155|145| 5 | 11 | 3.5 80/90B5 KC30.9.023LM consulta il nostro sito web
17-32 18 | 75 | 110 110 | 50 | 130 | 123 | 15 9 5 71B5 71B5 KC30.9.024
A see on page bottom
- Most popular types
Tipi piu diffusi
Output flanges
PSOZA-F"' flange di uscita Detail Y i k1
yial oy —
P P -d444 ©
@ S ] [s))
X Detail Y l
= ' f1
*Available output shaft / Albero di uscita 63| | cl
Shaft-d1| pl| hl|  x *Hol_es position
Available output flanges / flange di uscita Posizione fori
Standard @ 20x40 6 |22.5| M8x19 -
alg bl| cl|el| f1 | sl | kitcode
D | 2| 15| ol 120 80 [11.5/100] 3 | o* [ KC308.010] ==l
O{\'rirgfil‘;gm 219x40 | 6 |21.5| M6x16 140 95 |11.5| 115 | 3 | 9 | KC30.9.011 | feet onfyon
ﬂggxgg g % mgxig 160 110 [11.5/130| 35 | 9 | KC30.9.012| request
7 eox % 200 130 | 11.5] 165 | 3.5 | 11 | KC30.9.013 | compatibility
Basic gearbox Input Shaft
P302A-N"' Riduttore base R302A_N"' Albero in entrata
A ) N.4 M8x14
. 2 143.
. 5 131.2 128 é 3.5 33
4 .5 ] g
i [ o - =
©) 8 | g "
- - S D 5]
7 N —
i <t
N ! —
220 he AJ, 6.5 — 875 '\
-~ ’ N.4 - M8x16
M8x19 90° 26|, 605 4 - M8x
Hangee | A | C,, 96| kL | kitcode Sfianges, | A | C,. |96 ki | kitcode
63 B5 151.7| 170 |140|155.2| K063.4.041 71 B14 149.7[152.5/105|153.2| K063.4.047
71B5 |149.7| 180 |160|153.2| K063.4.042 80 B14 [151.7| 160 |120|155.2| K063.4.046
80/90 B5 |151.7| 200 |200|155.2| K063.4.043 90 B14 [151.7| 170 |140|155.2| K063.4.041



http://www.tcpdf.org

	price: 
	time: 


